


Adapters

Sleeves & Liners

w
c
2
S
=
)
n
)
=
@
IS
w
o
O

Auxiliary Suspension

Pediatric

Fillauer | Lower Extremity Prosthetics

Lock System Chart

Water

Integrated

Proof One-way Valve

Original

Shuttle Lock

W) i
} Original

\
Modular
Shuttle Locks
A ’ . .
g Ti Pyramid
e
\ Delrin
Cylindrical
ﬁ!" 4-Hole
Green
Cylindrical

Gator Grip
Locks

Ti Pyramid

¥ uf Delrin

Cylindrical

v Ti Pyramid
= Delrin
a Cylindrical

Pediatric
Modular
Locks

=
> | TiPyramid
®

Delrin

- Cylindrical
A Yy

Distal
Attachment

Weight
Rating

None N/A
ISE] Weight
Attachment Rating
) ) 300 Ibs.
Ti Pyramid (136 kg)
None N/A
300 lbs.
4-Hole (136 kg)
300 Ibs.
4-Hole (136 kg)
300 Ibs.
4-Hole (136 kg)
ISE] Weight
Attachment Rating
) ) 300 Ibs.
Ti Pyramid (136 kg)
None N/A
300 Ibs.
4-Hole (136 kg)
Distal
Attachment
) ) 300 Ibs.
Ti Pyramid (136 kg)
None N/A
300 lbs.
4-Hole (136 kg)
DINE] Weight
Attachment Rating
Med. Ti 132 lbs.
Pyramid (60 kg)
None N/A
132 lbs.
Ped 4-Hole (60 kg)

Flexible
Pin

Build Height

1% in.
3.2cm

Build Height

1%in.
3.8 cm**

1% in.
3.2 @npsess

Tin.
2.5cm

1% in.
3.2cm

Tin.
2.5cm

Build Height

1%in.
3.8 cm**

1% in.
3.2cm

1% in.
3.2cm

Build Height

13 in.
4.4 cn**

1%in.
2.8) @nessss

1% in.
3.2cm

Build Height

1%in.
3.2 cm**

78 in.
22, Eesasds

Tin.
2.5cm

*Excludes Adapter **To Mid-dome ***Mid-dome to top of thread

@ Smooth

Item Number

125229

Item Number

125460

125459

125462

125461

125240

Item Number

141002

141001

141003

Item Number

140010

140000

140020

Item Number

FC100202

125410

FC100204

Fabrication
Kit Number

125239

Fabrication
Kit Number

125239

125239

125239

125204

809867

Fabrication
Kit Number

141020

141020

141021

Fabrication
Kit Number

140065

140065

140065

Fabrication
Kit Number

125420

125420

125420

@ Removable
Mechanism

Plungers

1,1.5,2,25,3in.

Plungers

1,1.5,2,25,3in.

1,1.5,2,25,3in.

1,1.5,2,25,3in.

1,1.5,2,25,3in.

1,1.5,2,25,3in.

Plungers

1,1.5 2in.

1,1.5,2in.

1,15 2in.

Plungers

1.5, 2in.

1.5, 2in.

1.5,2in.

Plungers

1,1.5in.

1,1.5in.

1,1.5in.

*#***Does not include pin dummy

Features

@

@

@

Features

@O0
@O©0O
@O0

Features

@

@

@@

Features

@

@

@

44  Fillauen.

G Transtibial

e Transfemoral



Fillauer | Lower Extremity Prosthetics

Ll

Original Shuttle Lock

(i
Specifications o

>

Product weight: 2.26 oz. (64.2 g) Material: Delrin body / g’
Build Height: 1.25in. (32 mm) Distal Attachment: None 3
Ordering Information ~

Shuttle Lock Kit, without Plunger 125229

Shuttle Lock Kit, with Plunger 1.0 in. (25 mm), %-20 Thread 125234

Shuttle Lock Kit, with Plunger 1.5 in. (38 mm), %-20 Thread 125232

Shuttle Lock Kit, with Plunger 2.0 in. (51 mm), %-20 Thread 125237

Shuttle Lock Kit, with Plunger 1.0 in. (25 mm), M10 Thread 125234MM

Shuttle Lock Kit, with Plunger 1.5 in. (38 mm), M10 Thread 125232MM

Shuttle Lock Kit, with Plunger 2.0 in. (51 mm), M10 Thread 125237MM

Replacement Parts

809747 - Shuttle lock body 809730 - Latch pin button
125345 - Button shield 809732 - Mounting nut
809712 - Guide screw assembly 809757 - Pe-Lite washers % in.
809731 - Latch pin 809758 - Pe-Lite washers 1 in.

Fabrication kit

Description Product Number

Fabrication Kit 125239

@
©
o]
<
®
w
g
C
=1
]
w
w

Replacement Parts

A 125314 -Threaded plug, 3-16 x 1 in. D 880490 - Set screw, %6-18 x 2 in.
B 125315 - Distal socket plug E 885347 -Hex key % in.
C 125348 - Plug screw f/shield F 880928 -Threaded plug screw, %-16 x 3% in.

Shuttle lock plungers

Description Product Number

Plunger 1.0 in. (25 mm), %-20 Thread 809722

Plunger 1.5 in. (38 mm), %-20 Thread 809725 &
[e]

Plunger 2.0 in. (51 mm), %-20 Thread 809727 ‘é‘

Plunger 1.0 in. (25 mm), M10 Thread 809722MM 2

Plunger 1.5 in. (38 mm), M10 Thread 809725MM 809727MM g

Plunger 2.0 in. (51 mm), M10 Thread 809727MM §'

Plunger 2.5 in. (64 mm), M10 Thread 809720MM 809727 -

Plunger 3.0 in. (76 mm), M10 Thread 809721MM
g
X,
Q_T
<l
(%]
(=
w
©
(0]
>
Q,
o
=
o
(0]
o
=

. 7
% Manufactured in the United States : = Manufactured in Sweden ]dluua/z 45




Adapters

Sleeves & Liners

w
c
]
£
=
)
n
)
=
@
IS
w
o
O

Auxiliary Suspension

Pediatric

Fillauer | Lower Extremity Prosthetics

Modular Shuttle Lock with Titanium Pyramid —

Specifications
Weight limit: 300 Ibs. (136 kg) Build Height: 1.5 in. (38 mm)
Product weight: 4.3 0z. (121.5 g) Material: Titanium pyramid \

Product Features

+ One-piece, removable lock body

+ See Lock System Chart on page 44

Ordering Information

Description Product Number

Modular Shuttle Lock 125460

Replacement Parts

809795 - Titanium Pyramid Housing
809782 - Shuttle Body

809784 - Button Shield

809783 - Guide Screw

809731 - Latch Pin

809785 - Latch Pin Button

809711 - Shuttle Lock

I &6 mMm m O N @

809756 - Compression Spring

I 880033 -6-32 x %g in. Socket Head Set Screw K
] 809787 - Pe-Lite Washer

K 124183 - Lamination Cap

Fabrication kit

Description Product Number

Fabrication kit 125239

Replacement Parts

A 809790 - Shuttle Body Dummy

B 809791 - Button Shield Dummy

C 880494 - %6-18 x 3 Socket Head Set Screw

Shuttle Lock Plungers

Description Product Number

Plunger 1.0 in. (25 mm), %-20 Thread 809722

Plunger 1.5 in. (38 mm), %-20 Thread 809725

Plunger 2.0 in. (51 mm), %-20 Thread 809727

Plunger 1.0 in. (25 mm), M10 Thread 809722MM 809727MM
Plunger 1.5 in. (38 mm), M10 Thread 809725MM

Plunger 2.0 in. (51 mm), M10 Thread 809727MM

Plunger 2.5 in. (64 mm), M10 Thread 809720MM 809727

Plunger 3.0 in. (76 mm), M10 Thread 809721MM

46 ]dlcuwz G Transtibial G Transfemoral



Fillauer | Lower Extremity Prosthetics

Modular Shuttle Lock with Delrin Housing £
Specifications Product Features S >
o
Weight limit: N/A + One-piece, removable body %
o
Product weight: 2.2 oz. (62 g) * Independent alignment ?‘ ) ]
Build Height: 1.25in. (32 mm) * See Lock System Chart on )
Material: Delrin page 44
p—
Ordering Information
Delrin Shuttle Lock, without Plunger 125459
Replacement Parts
809780 - Large Delrin Shuttle Housing 809711 - Shuttle Lock
809782 - Shuttle Body 809756 - Compression Spring
809784 - Button Shield 809783 - Guide Screw 809784
809731 - Latch Pin 880033 - 6-32 x %5 in. Socket Head Set Screw
809783
809785 - Latch Pin Button 809787 - Pe-Lite™ Washer @/
809780 v&309731
Shuttle Lock Sub Assembly ~ 809787
o 809785 w
:
<
Shuttle Lock Sub Assembly 809746 i
809782 C
Replacement Parts 3
809782 - Shuttle Body 809756 - Compression Spring 809756 a
809711 - Shuttle Lock 880033 - 6-32 x % in. Socket Head Set Screw =—+— %/
880033 —
&
Fabrication kit 809711 _@
Fabrication kit 125239
Replacement Parts 809791
809790 - Shuttle Body Dummy 880494 - %6-18 x 3 in. Socket Head Set Screw 809790
809791 - Button Shield Dummy 9
) (]
= 80494 3
Shuttle Lock Plungers =4
wn
:
Plunger 1.0 in. (25 mm), %-20 Thread 809722 g
wn
Plunger 1.5 in. (38 mm), %-20 Thread 809725
Plunger 2.0 in. (51 mm), %-20 Thread 809727 -
Plunger 1.0 in. (25 mm), M10 Thread 809722MM S
Plunger 1.5 in. (38 mm), M10 Thread 809725MM 3
Plunger 2.0 in. (51 mm), M10 Thread 809727MM 809727MM §
©
Plunger 2.5 in. (64 mm), M10 Thread 809720MM % g
Q,
i o
Plunger 3.0 in. (76 mm), M10 Thread 809721MM 809727 S
o
(0]
=3
=
. &
% Manufactured in the United States : = Manufactured in Sweden ]*Luaw 47




Adapters

Sleeves & Liners

w
c
2
S
=
)
n
)
=
@
IS
w
o
O

Auxiliary Suspension

Pediatric

Fillauer | Lower Extremity Prosthetics

Modular Shuttle Lock with Cylindrical Housing

Specifications

Weight limit: 300 Ibs. (136 kg)
Product weight: 0.34 0z. (9.6 g)
Build Height: 1.0 in. (25 mm)
Material: Delrin

Warranty: 12 month

Ordering Information

Description

Cylindrical Housing Shuttle Lock, without Plunger 125462

Replacement Parts
809860 - Cylindrical Housing
809782 - Shuttle Body
809784 - Button Shield
809783 - Guide Screw
809739 - Latch Pin

Shuttle Lock Sub Assembly

[l

Product Features
+ One-piece, removable body

+ See Lock System Chart on
page 44

Product Number

0

809784
0
809860 809783
809785 - Latch Pin Button 09739
809787
809711 - Shuttle Lock %809785

809756 - Compression Spring
880033 - 6-32 x % in. Socket Head Set Screw
809787 - Pe-Lite™ Washer

Product Number

Description

Shuttle Lock Sub Assembly

Replacement Parts
809782 - Shuttle Body
809711 - Shuttle Lock

Fabrication Kit

809782

809746 o
@ 809756

Description
Cylindrical Housing Dummy Kit

Replacement Parts
809865 - Fabrication Dummy Body

809756 - Compression Spring 880033 g %@ 809711
880033 - 6-32 x % in. Socket Head Set Screw
Product Number
125239
/880275 80494
/809865

880275- M6 x 1 x 16 mm Socket Head Set Screw Cone Point
880494 - %6-18 x 3 in. Socket Head Set Screw

May also use Fabrication Kits 125204 and 125202 with this item

Shuttle Lock Plungers

Description Product Number

Plunger 1.0 in. (25 mm), %4-20 Thread 809722

Plunger 1.5 in. (38 mm), %-20 Thread 809725
Plunger 2.0 in. (51 mm), %-20 Thread 809727 809727MM

Plunger 1.0 in. (25 mm), M10 Thread 809722MM

Plunger 1.5 in. (38 mm), M10 Thread 809725MM 809727

Plunger 2.0 in. (51 mm), M10 Thread 809727MM

Plunger 3.0 in. (76 mm), M10 Thread 809721MM

48 ]d[aum G Transtibial e Transfemoral



Fillauer | Lower Extremity Prosthetics

Ll

Modular Shuttle Lock with 4-Hole Housing
0o

Specifications Product Features

Weight limit: 300 Ibs. (136 kg) * One-piece, removable body

Product weight: 3.6 0z. (102 g) + See Lock System Chart on

Build Height: 1.25 in. (32 mm) page 44 :
Material: Aluminum housing, Delrin body 'Q;

Ordering Information

4-Hole Shuttle Lock, without Plunger 125461

Replacement Parts /:(?9977:34
809792 - 4-Hole Shuttle Housing 809785 - Latch Pin Button 209739
809782 - Shuttle Body 809711 - Shuttle Lock @/ 809782 gso%ggs
809784 - Button Shield 809756 - Compression Spring 809 756 &
809783 - Guide Screw 880033 - 6-32 x %5 in. Socket Head Set Screw 880033 g %j© 809711

809739 - Latch Pin 809787 - Pe-Lite™ Washer

Fabrication Kit for Lamination

885215
809798

882610
= 809799 o B o
/

Description Product Number

Fabrication Kit 125204

Replacement Parts 809794 809791

809790 - Shuttle Body Dummy 882610 - M6 x 10 Socket Set Screw (4 Each)

809791 - Button Shield Dummy 885215 - Nut %6-18 Acorn g) 809790
=5 i - A

880494 - ¥%6-18 x 3 in. Socket Head Set Screw 809798 - Jam Screw 5 882610 ==

809794 - Flattening Plate 809799 - Jack Screw

Hex socket end

=] g/
@ 809791
Fabrication Kit for Thermoforming 6 880494
Fabrication Kit 125202 ~ 809800
Replacement Parts /%Hexsocm end @/809801
880494
809790 - Shuttle Body Dummy 882610 - M6 x 10 Socket Set Screw (4 Each)
809791 - Button Shield Dummy 809800 - Camlock Assembly
880494 - %6-18 x 3 in. Socket Head Set Screw 809801 - Hole Punch
809793 - Flattening Plate Fabrication Kit Fabrication kit
for Lamoination for Thermoforming
Shuttle Lock Plungers
Plunger 1.0 in. (25 mm), %-20 Thread 809722
Plunger 1.5 in. (38 mm), %-20 Thread 809725
Plunger 2.0 in. (51 mm), %-20 Thread 809727 809727MM
Plunger 1.0 in. (25 mm), M10 Thread 809722MM
Plunger 1.5 in. (38 mm), M10 Thread 809725MM ;;%
Plunger 2.0 in. (51 mm), M10 Thread 809727MM
Plunger 2.5 in. (64 mm), M10 Thread 809720MM
Plunger 3.0 in. (76 mm), M10 Thread 809721MM
% Manufactured in the United States : = Manufactured in Sweden }Luaw 49

siydepy

)
(0]
[o']
<
]
(7]
®
=
=
(0]
=
(7]

SuOIIN|OS J1IBWIS0)

uoisuadsns Aieljixny

JLelpad




Adapters

Sleeves & Liners

w
c
2
S
=
)
n
)
=
@
IS
w
o
O

Auxiliary Suspension

Pediatric

Fillauer | Lower Extremity Prosthetics

[l

Cylindrical Lock
0o

Specifications Product Features
Weight limit: 300 Ibs. (136 kg) + Simple, single stage lamination
Product weight: 2.8 0z. (80 g) +  Shuttle lock function
Build Height: 1 in. (25 mm) « Distal 4-hole pattern
Material: Delrin + See Lock System Chart on
page 44

Ordering Information

Cylindrical Lock
with 2 x Plunger 1.0 in. (25 mm) M10 Thread 125240

— 809685 i}
Cylindrical Lock 125241 ¢ 809722mm-1
with 2 x Plunger 1.5 in. (37 mm) M10 Thread 809873 % 809725mm-1 %"
Replacement Parts 2
809685 - Latch Pin Button for Lock Systems 880285 - M6 x 1 x 25 mm Flat Socket Head Cap
809873 - Cylindrical Lock Body S, SR J—

Fabrication Kit

Description Product Number

Fabrication Kit 809867

880494
/

809864

EQ? — 809791

<«—— 880275 SHSS

Replacement Parts

809864 - Fabrication Dummy Body

880275 - M6 x 1 x 16 mm Socket Head Set Screw
880494 - %6-18 x 3 in. Socket Head Set Screw
809791 - Button Shield Dummy

May also use Fabrication Kits 125204 and 125202 with this item

Shuttle Lock Plungers

Plunger 1.0 in. (25 mm), %-20 Thread 809722

Plunger 1.5 in. (38 mm), %-20 Thread 809725

Plunger 2.0 in. (51 mm), %-20 Thread 809727

Plunger 1.0 in. (25 mm), M10 Thread 809722MM

Plunger 1.5 in. (37 mm), M10 Thread 809725MM 8ug727MM
Plunger 2.0 in. (51 mm), M10 Thread 809727MM

Plunger 2.5 in. (64 mm), M10 Thread 809720MM 809727

Plunger 3.0 in. (76 mm), M10 Thread 809721MM

50 ]d[aum G Transtibial G Transfemoral



Fillauer | Lower Extremity Prosthetics

Gator Grip with Ti Pyramid Lock

Specifications

Weight limit: 300 Ibs. (136 kg)
Product weight: 4.7 0z. (133 g)
Build Height: 1.5 in. (39 mm)

Material: Titanium pyramid

Ordering Information

Ll

Product Features

+  Waterproof

+ Stepless, soundless locking
+ Salt water resistant

+ Available rigid or flexible plunger
made of stainless steel (not
included)

ipti 141140
Description Product Number N

Gator Grip Lock Kit, with Pyramid Housing 141002

Replacement Parts

W o 027827

140106
.
/

N
@ 141142

A 141160 - Hard Anodized Aluminum Housing, with Titanium Pyramid N

B 141144

B 141105 - Release Assembly with Spring, 1 Each

027827 - Compression Spring, Stainless, 1 Each

140106 - Latch Pin, 1 Each
141140 - Release Rack, 1 Each
141142 - Button Shield, 1 Each
141144 - Latch Pin Button, 1 Each

C 141100 - Gator Grip Modular Lock Cartridge

141110 - 316 Stainless Steel 7/32" Ball Bearing, 4 Each
141112 - 316 Stainless Steel Internal Retaining Ring, 1 Each

— 124183

141114 - 316 Stainless Steel Flat Washer, 1 Each

141120 - Gear Driven Release Cam, 1 Each
141122 - Cam Follower Spacer, 2 Each
141130 - Modular Lock Cartridge Housing, Titanium, 1 Each

141132 - Ball Retainer, 1 Each \ 124183
027826 - Conical Compression Spring, Stainless Steel 124183
882410 - Cam Follower Screw, 2 Each D
@\ O T 124183
‘\ /
Fabrication Kit 124183 O ©
® 124183
Gator Grip Fabrication Kit for Delrin and 141020 124183 \\ 124183
Pyramid Housing —
~
124183
Replacement Parts
141190 - Fabrication Dummy 141195 - Button Dummy C ™ 124183

141192 -1.5in. (37 mm) Plunger Extension
141194 -2 in. Plunger Extension

880494 -%5-18 x 3 in. Socket Head Set Screw

Gator Grip Plungers with %-20 Thread

Flexible Plunger, 1.5 in. (38 mm) 141010
Flexible Plunger, 2.0 in. (51 mm) 141011
Flexible Plunger, 2.5 in. (64 mm) 141012
Rigid Plunger, 1.0 in. (25 mm) 141015
Rigid Plunger, 1.5 in. (38 mm) 141016 141017
Rigid Plunger, 2.0 in. (51 mm) 141017

% Manufactured in the United States : = Manufactured in Sweden }Luaw 51

siydepy

)
o
o)
<
@
w
")
=
5
o)
w
wn

SuOIIN|OS J1IBWIS0)

uoisuadsns Aieljixny

JLelpad




Adapters

Sleeves & Liners

w
c
]
£
=
)
n
)
=
@
IS
w
o
O

Auxiliary Suspension

Pediatric

Fillauer | Lower Extremity Prosthetics

Gator Grip Delrin Lock
0o

Specifications Product Features

[l

Weight limit: N/A +  Waterproof

Product weight: 2.6 oz. (74 g) + Salt water resistant

Build Height: 1.25in. (32 mm) + Available rigid or flexible plunger ' ‘ ‘

made of stainless steel (not

included) N— e

Material: Delrin

Ordering Information

Description Product Number

Gator Grip Lock Kit, with Delrin Housing 141001

Replacement Parts 027827
141150 - Delrin Housing 141142 o

A 141105 - Release Assembly with Spring @ 141140
--..-..-..-..-..-..-...-..-..-..-..-...‘ ................................................................. 14’]144 /
027827 - Compression Spring, Stainless - @ —140106

140106 - Latch Pin A
141140 - Release Rack

141142 - Button Shield

141144 - Latch Pin Button

B 141100 - Gator Grip Modular Lock Cartridge

141110 - 316 Stainless Steel % in. Ball Bearing, 4 Each

141112 - 316 Stainless Steel Internal Retaining Ring

141114 - 316 Stainless Steel Flat Washer 141110- O

141120 - Gear Driven Release Cam

141122 - Cam Follower Spacer, 2 Each 141122 —

141130 - Modular Lock Cartridge Housing, Titanium &
B

— 141130

882410

— 141132

141132 - Ball Retainer — 027826

14111
027826 - Conical Compression Spring, Stainless Steel \
p pring —

882410 - Cam Follower Screw, 2 Each 141114

Fabrication Kit @ — 141120
Gator Grip Fabrication Kit for Delrin and Pyramid Housing 141020

Replacement Parts

141190 - Fabrication Dummy 141195 - Button Dummy, 1 Each
141192 -1 % in. Plunger Extension 880494 - %6-18 x 3 in. Socket Head Set Screw
141194 -2 in. Plunger Extension

Gator Grip Plungers with %-20 Thread

Flexible Plunger, 1.5 in. (38 mm) 141010
Flexible Plunger, 2.0 in. (51 mm) 141011
Flexible Plunger, 2.5 in. (64 mm) 141012
Rigid Plunger, 1.0 in. (25 mm) 141015
Rigid Plunger, 1.5in. (38 mm) 141016
Rigid Plunger, 2.0 in. (51 mm) 141017 141017

52 ]dlcuwz G Transtibial G Transfemoral



Fillauer | Lower Extremity Prosthetics

Gator Grip Cylindrical Lock
0o

Specifications Product Features
Weight limit: 300 Ibs. (136 kg) +  Waterproof
Product weight: 4.6 0z. (132 g) +  Salt water resistant
Build Height: 1.25 in. (32 mm) « Available rigid or flexible plunger
. ) made of stainless steel (not
Material: Delrin )
included)

Ordering Information

Description Product Number

Gator Grip Lock Kit, with Cylindrical Housing 141003

Replacement Parts
A 141150 - Delrin Housing
B 141105 - Release Assembly with Spring

027827 - Compression Spring, Stainless
140106 - Latch Pin

141140 - Release Rack

141142 - Button Shield

141144 - Latch Pin Button

C 141100 - Gator Grip Modular Lock Cartridge

141110 - 316 Stainless Steel 7 in. Ball Bearing, 4 Each
141112 - 316 Stainless Steel Internal Retaining Ring
141114 - 316 Stainless Steel Flat Washer

141120 - Gear Driven Release Cam

141122 - Cam Follower Spacer, 2 Each

141130 - Modular Lock Cartridge Housing, Titanium
141132 - Ball Retainer

027826 - Conical Compression Spring, Stainless Steel
882410 - Cam Follower Screw, 2 Each

Fabrication Kit

Description Product Number

Gator Grip Fabrication Kit, for Cylindrical Housing 141021

Replacement Parts

141196 - Fabrication Dummy 880275 - M6 x 1 x 16 mm Socket Head Set
141197 - Button Dummy Screw, 4 Each

880494 - %6-18 x 3 in. Socket Head Set Screw 141022 - Fabrication Kit, for Thermoforming
880277 - M6 x 1 x 8 mm Socket Head Cap 141024 - Fabrication Kit, for Lamination

Screw, 4 Each

Gator grip Plungers with %-20 Thread

Description Product Number

Flexible Plunger, 1.3 in. (33 mm) 141009
Flexible Plunger, 1.5 in. (38 mm) 141010
Flexible Plunger, 2.0 in. (51 mm) 141011
Flexible Plunger, 2.5 in. (64 mm) 141012
Rigid Plunger, 1.0 in. (25 mm) 141015
Rigid Plunger, 1.5 in. (38 mm) 141016
Rigid Plunger, 2.0 in. (51 mm) 141017

Ll

027827

B 141142 \sﬂ‘

141140
141144

@K
140106

141130

O 882410
141110 -O @ 0@/
O ‘\ .‘ O
141122 141132
g
141112 027826
141114

L=
./'141120

880275 —0 00

880277 — 5828

141196 =3
-
141197
880494

1mummn 1mnnumunummlmm'm..n
WCEkELEt
1t

141012 =

% Manufactured in the United States : = Manufactured in Sweden

Fillaver. 53

siydepy

)
o
o)
<
@
w
")
=
5
o)
w
wn

SuOIIN|OS J1IBWIS0)

uoisuadsns Aieljixny

JLelpad




Adapters

Sleeves & Liners

w
c
2
S
=
)
n
)
=
@
IS
w
o
O

Auxiliary Suspension

Pediatric

Fillauer | Lower Extremity Prosthetics

Clutch Lock with Titanium Pyramid
0o

Specifications Product Features
Weight limit: 300 Ibs. (136 kg) +  One way valve

Product weight: 5.5 0z. (157 g) + Plunger sold separately
Build Height: 1.75 in. (44 mm)

Material: Titanium pyramid

Ordering Information

Description Product Number

Pyramid Clutch Lock Kit, without Plunger 140010

Replacement Parts
A 140002 - Delrin Housing, for Clutch Lock
B 140150 - Clutch Lock, with Air Expulsion

140116 - Latch Pin
C 140065 - Fabrication Kit, for Clutch Lock

140060 - Wrench

140061 - Clutch Housing Dummy

140062 - Distal Attachment Dummy

880488 - 14-20 x 2 in. Socket Head Set Screw
881351 - Brass Nail

Clutch Lock Plungers

Description Product Number

Use This End for " ;i

140060
Clutch Cartridge

A
140061
@ 881351
c i 140062
(=) 830488
B o\ lefthand

y threads
140116

Plunger, 1.5 in. (38 mm), %-20 Thread 140041
Plunger, 2.0 in (51 mm), %-20 Thread 140040 140043
Plunger, 1.5in. (38 mm), M10 Thread 140044
Plunger, 2.0 in. (51 mm), M10 Thread 140043
140040
54 \}M G Transtibial G Transfemoral



Fillauer | Lower Extremity Prosthetics

Ll

Clutch Lock with Delrin Housing
0o

Specifications Product Features - >
o

Weight limit: N/A + Tightening possible using locking %

Product weight: 2.6 0z. (75 g) mechanism 3

Build Height: 1.12 in. (29 mm) * Plunger sold separately

Material: Delrin * One-wayvalve

Ordering Information | —

Delrin Clutch Lock Kit, without Plunger 140000

Use This End for

Clutch Cartridge 140060

Replacement Parts
A 140002 - Delrin Housing, for Clutch Lock

B 140150 - Clutch Lock, with Air Expulsion
...................................................................................................... 14006‘]
140116 - Latch Pin

C 140065 - Fabrication Kit, for Clutch Lock

140060 - Wrench d
140061 - Clutch Housing Dummy B
140062 - Distal Attachment Dummy Q left hand
880488 - %-20 x 2 in. Socket Head Set Screw y threads ”
881351 - Brass Nail 140116 @
<
(]
Clutch Lock Plungers ;'o
Plunger, 1.5 in. (38 mm), %-20 Thread 140041 =
Plunger, 2.0 in (51 mm), %-20 Thread 140040 140043
Plunger, 1.5in. (38 mm), M10 Thread 140044
Plunger, 2.0 in. (51 mm), M10 Thread 140043

140040

SuOIIN|OS J1IBWIS0)

uoisuadsns Aieljixny

JLelpad

Fillaver. 55

% Manufactured in the United States : = Manufactured in Sweden




Adapters

Sleeves & Liners

w
c
2
S
=
)
n
)
=
@
IS
w
o
O

Auxiliary Suspension

Pediatric

Fillauer | Lower Extremity Prosthetics

[l

Clutch Lock with Cylindrical 4-Hole Housing
0o

Specifications Product Features
Weight limit: 300 Ibs. (136 kg) + One way valve
Product weight: 4.2 0z. (120 g) « Plunger sold separately

Build Height: 1.25in. (32 mm)

Material: Delrin

Ordering Information

S5
4-Hole Cylindrical Clutch Lock Kit, without Plunger 140020
< 140060

Use This End for
Replacement Parts Clutch Cartridge

A 140023 - 4-Hole Cylindrical Housing, for Clutch Lock A 140023

880282 - M6 x 1 x 20 mm Flat Head Socket Cap Screw %

&
& ss2613

882613 - M6 x 1 x 12 mm Socket Head Cap Screw

B 140150 - Clutch Lock, with Air Expulsion B & left hand

140116 - Latch Pin y threads [
140116 I | |}

C 140065 - Fabrication Kit, for Clutch Lock

..................................................................................................... 880282
140060 - Wrench g

140061 - Clutch Housing Dummy

140062 - Distal Attachment Dummy 140061 881351
880488 - %-20 x 2 in. Socket Head Set Screw
881351 - Brass Nail
@ T 1 140062
£ ~
Fabrication Dummy Kit (Cylindrical 4-hole Housing) C 880488
Description Product Number / ! \

Clutch Lock Fabrication Kit 140065

Clutch Lock Plungers

Plunger, 1.5 in. (38 mm), %4-20 Thread 140041
Plunger, 2.0 in. (51 mm), %-20 Thread 140040
Plunger, 1.5in. (38 mm), M10 Thread 140044
Plunger, 2.0 in. (51 mm), M10 Thread 140043

140043

140040

56 ]d[aum G Transtibial G Transfemoral



Fillauer | Lower Extremity Prosthetics

Ll

Shuttle Vac
(1 v )

Specifications Product Features -

Weight limit: N/A + Retrofits to Fillauer Original Shuttle
Lock attachment nut

siydepy

Weight: 0.1 0z. (2.6 g)
+ Uses water resistant duckbill valve
design

+ Adds versatility and clinical \_,

suspension options

Build Height: 1.25in. (31 mm)

Material: Delrin

+ Allows patient evaluation of suction

Ordering Information

Description Product Number

Shuttle Vac 125900

)
[
[}
<
[0}
2]
'3
=
=]
[}
=
wn

SuOIIN|OS J1IBWIS0)

uoisuadsns Aieljixny

JLelpad

Fllauer. 57

% Manufactured in the United States : = Manufactured in Sweden




Fillauer | Lower Extremity Prosthetics

[l

Shuttle Lock Plungers Lanyard Plunger

%
.

" With M10 Metric Thread With M10 Metric Thread
;
3 Plunger, 1.0 in. (25 mm) 809722MM : Plunger 1.0 in. (25 mm) 809922MM
Plunger, 1.5in. (37 mm) 809725MM © Plunger 1.5in. (37 mm) 809925MM
Plunger, 2.0 in. (51 mm) 809727MM :
Plunger, 2.5 in. (64 mm) 809720MM {  With %-20 Thread
Plunger, 3.0 in. (76 mm) 809721MM
: Plunger 1.0 in. (25 mm) 809922
With %-20 Thread : Plunger 1.5.in. (37 mm) 809925
Plunger, 1.0 in. (25 mm) 809722 :
Plunger, 1.5 in. (37 mm) 809725
Plunger, 2.0 n. (51 mm) 800727 e
ey M aoorne  <rmall Delrin Shutt] _
§ ma elrin uttie =

............................................................................... : Lock P|ungers

With M10 Metric Thread

w
()]
.
P © Plunger, 1.0in. (25 mm) 809826MM
E With M10 Metric Thread Plunger, 1.5 in. (37 mm) 809827MM
w .
Flexible pIunger 2.0in. (51 mm) 141011 Plunger, 1.0in. (25 mm) 809823MM
Flexible plunger 2.5 in. (64 mm) 141012 Plunger, 1.5 in. (37 mm) 809825MM
Rigid plunger 1.0 in. (25 mm) 141015 :
s
Rigid plunger 1.5 in. (37 mm) 141016 ; With?%-20Thread
Rigid plunger 2.0 in. (51 mim) 141017 :
: Plunger, 1.0 in. (25 mm) 809826
2 Plunger, 1.5 in. (37 mm) 809827
'4% ................................................................................
=]
2 :
] :
O .
; Clutch Lock Plungers €
8 :
NW' Lock Device Plungers £
S With M10 Thread
o
§ Plunger, 1.5in. (37 mm) 140044 :
= :
=]
P

With %-20 Thread Plunger, For Use with PDI Device 809768
(Special Order)

| Plunger, For Use with Iceross Lock Device 808770

Plunger, 1.5in. (37 mm) 140041 Plunger, M10 Iceross® Style,

Plunger, 2.0 in. (51 mm) 140040 : For Use with Clutch Lock Only 809771

Pediatric

58 }LHCULQ/I G Transtibial G Transfemoral




Fillauer | Lower Extremity Prosthetics

Ll

Latch Pins

Ordering Information

Description Product Number

Latch Pin, 10-32 x 2 in. for Regular Shuttle Locks 809731 z
Latch Pin, 10-32 x 3.5 in. for Transfemoral 809728 %,
Latch Pin, 6-32 x 2 in. for Small Shuttle Locks 809729 3
Latch Pin, 6-32 x 3.5 in. for Small Shuttle Locks 809734

Liner Lanyard £

Product features

+ Detachable cable system used to help seat a shuttle lock plunger

Ordering Information n
(1]
o
Description Product Number é
BK Pylon Clamp, for Liner Lanyard 124171 g
3
o
Liner Lanyard kit @
Description Product Number
Liner Lanyard Kit, Plunger not included 125540

Replacement Parts
809917 - 16 in. Lanyard Cable
809918 - 2 in. Pull Handle

Lanyard Plungers

.
Plunger 1.0 in. (25 mm), with %-20 Thread 809922 §
Plunger 1.5 in. (37 mm), with %-20 Thread 809925 gr.
Plunger 2.0 in. (51 mm), with %-20 Thread 809927 g
Plunger 1.0 in. (25 mm), with M10 Thread 809922MM §-
Plunger 1.5 in. (37 mm), with M10 Thread 809925MM a
Plunger 2.0 in. (51 mm), with M10 Thread 809927MM

uoisuadsns Aieljixny

JLelpad

Fllauer. 59

% Manufactured in the United States : = Manufactured in Sweden




Fillauer | Lower Extremity Prosthetics

Cord Lock &

Specifications
Weight limit: N/A Build Height: 1.5 in. (39 mm)

Adapters

Product weight: 2.3 0z. (66 g) Material: Delrin

Product Features
+ Developed for use with liners with M10 thread

+ Can be pulled down in the center without adding unnecessary distal load on
the stump

1
Ordering Information ﬂ\\j ot
)

Description Product Number

Cord Lock Universal, complete 731200001

REPLACEMENT PARTS

731200010 - Polyester cord

731200009 - Lock knob

731200014 - Distal hook for socket, M10
731200013 - Clam cleat

731200011 - PTFE tube

731200015 - Funnel and ring
731200018 Funnel tool H

6O M MmO N ®

Accessories

Sleeves & Liners

731200016
Description Product Number 731200017

Dummy kit for cord lock universal 731200016

Extra silicone dummy for pyramid/ cord lock 731200017 ‘ -

w
c
]
£
=
)
n
)
=
@
IS
w
o
O

Auxiliary Suspension

Pediatric

60 ]d(zuwz G Transtibial G Transfemoral




